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200 200 190 200 270 25 10 30 30 200 30 50 2000 100
240 240 220 240 310 25 10 35 35 240 30 50 2000 118
300 300 260 300 380 30 10 45 45 300 50 50 2000 180
360 360 310 360 450 30 15 50 50 360 50 50 2000 234
400 400 360 400 500 35 15 50 50 400 50 70 2000 268
450 450 400 450 560 40 15 60 60 430 50 70 2000 356
— 500 500 450 500 620 40 20 60 60 500 50 70 2000 392
600 600 540 600 730 50 15 70 70 600 50 70 2000 564
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200 270 40 40 35 5 500 15 75 10
240 310 40 45 40 5 500 15 75 14
300 380 45 60 50 10 500 15 75 25
360 450 50 65 55 10 500 15 90 33
400 500 55 65 55 10 500 18 100 37
450 560 60 70 60 10 500 18 120 46
500 620 65 75 65 10 500 18 120 49
600 730 70 75 65 10 500 18 150 62
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